Ao (—xE%FT) | o (—xE%KFET) 2

g M# FH- KL £ M8 & KL
ORODBABENHRERD L, ORDBABENRE KD L,
O yRziclAIL, x=3 QLT y=9 TH. O yRzlBIL, =4 DLE y=12 T %
@ yRziEREAL. =3 OrE y=4 THL, @ B2 REAIL. 13 DEE =2 Th 2.
@ ylxn—REKT. 757424 (1,3), (3,7) 283 ® ylrxn—REKT. 757424 (2,9), (5,6) 283
BRTH S, BERTH5,

@) @

X [ 3 4 X I 2 3 6

y 4 8 |12 16 y -6 -3 -2 -1
® ®

x | 4 8 x | 2 3 4

y 8 4 2 | y 2 | -4 | -6 | -8
©® ®

x 2 4 5 x 2 3 4 5

v 5 8 [ 14 y -3 - I 3




E#onx (—REEHFET) 3 Ao (—xEHKFT) 4

F M F-RZ £ M F- KL
ORDEAFORERD L, ORDEEDORERD L.
O yldxlckkfIL, x=-5 DrF y=15 TH 5, D yRxIttBlL. x=4 DL = y=8 Tb 5.
@ yRBxlcREBIL, z=6 DL E y=-3 TH%. @ yWBxltREEBIL, =3 DL F y=5 TH5,
Q yldan—REKT. 7574245 (1,4), (4,2) *8@% @ ylRaen—REAKT., 757924 (3,-2), (7,2) 2#@5
BRTH S, BRTH S,

@ @

x [ 2 3 4 x | 2 4

y -1 -2 -3 -4 y 24 12 8
® ®

x 2 3 4 6 x | 2 3 4

y 24 16 12 8 y 3 6 q 12
© G

x 2 3 4 5 x 2 3 4 5

y | 6 Il 16 y -3 -1 | 3




E#onx (—REEFET) 5 o (—xEEHFET) 6

F B KL F %A % K2
ORDEFORE KD L, ORDEEHORE KD L,
O ylExlckBFIL, z=-5 Dr T y=15 TH 5, D ylzlckBIL. x=3 Dr = y=—18 Th 5.
@ yWzltRUPIL. 2=6 DL F y=-3 Th5, @ ylzlcRUAIL, x=4 DL % y=5 TH5,
@ yllxn—REAKT. 757424 (1,7), (3,1) 2@3 @ ylEx—REAKT. 757024 (3,1), (5,7) 8@ 3
BRETH 5, BERTH 5,

@ @

x | 2 3 4 x | 2 4 5

y -2 -4 -6 -8 y -20 | -10 -5 -4
® ®

x | 2 3 4 x | 3 4

y -12 -6 -4 -3 y 7 14 21 28
® ®

x 2 3 5 x 2 4 5

y | 5 13 Y 5 4 2




B (—REEFET) 7 o (—xEHKFT) 8

g ®8M - -KL F B KL
ORDEABORE KD &L, ORDEABNORNE KD L,
O ylxlctbhIL, x=-3 DL ¥ y=-12 Th. D yRzICHAIL, 2=9 DL E y=-18 Th .
@ yBzlREPIL. 2=6 AL Z y=-5 ThHA. @ yRzREFIL. 2=7 DL = y=6 Th 5,
@ yllxn—REAKT. 757425 (2,6), (4,0) %@ 3 @ yldxn—REKT. 757425 (3,3), (5,9) 2@ 3%
BRETH 5, BERTH 5,

@ @

x | 2 3 4 x | 2 3 4

y -3 -6 -q -12 y =24 | -12 -8 -6
® ®

x | 4 8 x 2 4 6 8

y 8 4 | y -1 -2 -3 -4
® ®

x 2 3 4 5 x 2 3 5

y 3 5 7 q y 10 7 [




o (—REEKFET) 9

o (—REHFT) 10

F M8 F-KEL

g M8 F- KL

OROEBOXERD L,

OROEBORE KD L,

O yldxlTtkBIL, x=5 D E y=20 TH 5,

D ylExITtBIL, 1=-2 O = y=-8 THh 5,

@ ylRxIIREAFIL, x=3 DL F y=-9 TH 53,

@ yWrlcRHAIL, x=4 DL = y=-3 Th 5,

@R yldxn—REKT., 753750245 (4,3), (6,9) @3
BEETHS,

® ylx—REKT., 757024 (1,-2), (5,10) %@
LEMBTH S,

@
z | 2 3 6
y 18 | ¢ 6 3
®
x | 2 3 4
v 0 | 20 | 30 | 40
©
z | 2 3 4
y | 3| 0 3

@)
x I 2 3 4
y -4 -8 -12 -16
®
X | 2 4 8
Yy 24 12 8 6
®
x 2 3 4 5
y 5 3 | -1




